DQuestions 47 —50

Figure 9 shows a soft iron rod, A, lying beside a steel
rod, B, on a picee of card board, inside a coil.

f‘b =Y

Coil

]
Fgure9
47, When the switch 15 closed it is observed thar
A moves towards B
A movesaway from B
A moved irito the coil
A moves out of the cail

ool 80w = -

48. I'he polarity of the ends X and Y ol the cuil
ara respectively

A NandMN
13 M oand 8
o Sand S
D Sand ™
49, The rule or law used in determining the
polarity of the coil is
A Lenz’s law
B Laraday’s law
C the righr hand grip mle
12 Teming’s lefl hand rule
=113 When the swilch 15 now opened 1t 15 observed
that
A A moves away from B
G A moves into the coil
[ A does not move
[ B) A moves toward B

STOP

GO BACK AND CHECK YOUR
WORK
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Section [ (Forty two Questions)
Directions: Lach of the questions or
incemplete statements in this section 1s Lollowed
by [our sugpested answers. Select the best answ. o
for cach question.

1. The force in a string oeed to pull a canoe
ashore is called

A
13
i
D

friction
weighl
tension
magnetic foreo

3. Which of the lollowing iz a contac! foree?

A
B
C
[}

Gravitational force
harnctic force
Electrostatic foree
L thrust

3. Which af the quantities below has the unit

newton”

A Energy

R Force

E Momentum
D Power

4. Actransducer which converts mechanical

J enerzy (o clectrical energy is
A an electric bulb
B a transtormer
C an electric motor
13 a generator

5. Muost of the earih™s cnergy comes from

A
B
C
D

coal

51

ail

hatural gas

6. The most suitable thenmiometer for use ina
school labaratory is

o o B e

mercury-in-glass thermometer
clinical thermometer

thermopile

constant volume gas thermometer

7. ‘Which ol the following mstraments iz used to
vary current in a circuit?

A
(£
D

Voltmeler
Anumncter
Fuse
Rhuoslat

2550/ CMCQ
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8. Inan-elecincal device, the fuse is connecied 1o

A live wire

E carth wire

C neutral wire
N metal casing

9. Which of the fallowing graphs best represents
the relationship between the current through a
copper wire and the potentizl difference
Heross it?

iy
v v V
A B i

£

.

b
Fivure 1

10. Which of the following graphs shows how the
Acceleration, #, of & car varies with the
mnbalanced [oree, T, of the engine?

—. L\+,, e

Figure 2

11. Which of the [ollowing remains the same
when waves travel from deep to shallow

wldr?
A Speed
: B Frequency
C Wavelength

D Amplitude
12, Light from the sun rcaches the surfsce of the
zarth as
A a parallel beam
B a convergent beam
C a divergent heam
D a spetlrum

13. Which of the following forces incregses with
increase in (he speed of a hody?

A Weight

B Tension

{!  Flecirostatic force
D wag force

Go on to the next page




14, A driver untying a Light nut on his car will
prefer a long spanner because a large
moment is produced
B force is produced
C  momentum is produced
12 amounl ol energy is produced

Lad

[5. When a body moves with uniform veloeity,
A no force is necessarily acting on it
B s velocity changes uniformly with
limng
C  isacccleration is changing
[3 it has zero ucceleration

22, The specific latent heat of vaporization of a

substance is greater than its specific heat

capacily beeanse

A more bonds are broken and work is done
against the atmosphere.

B liltle or no heat is lost in the process of
latent heat.

C  mors mass is healed in the process ol
latent heal.

13 temperature changes more in the process
ol latent heat

16, To which of the following siluations docs the
principle of conservation of linear
momentum apply
A A gun living a bullet
B A mango falling from a tree
C  The acceleration of a car
D W ater [lowing down stream

17, Which of the [ollowing pairs of physical
quantities ane vectors?
A Mass and aceeleration
B Mumentum and time
C Veloeily and moméntnm
2 ¥olume and \cmperature

18, Solar panels used o generate electricity are
painted black to
A absorb maximum energy from the sun
B reflect maximum cnergy from the sun
¢ emit maximum energy from the sun
13 radiate maximum energy from the
pancl,

19, Which of the fullowing cnerey sources is

rencwable?

A Conl

([} il

B Hydroelectric plant
D Nawral gas

20, The sensitivity of a liquid in plass
thermimeter is the increase in length of liquid
per unit rise in temperature. Which of the
fellowing factors affects the sensilivity?

the crioss seetional area of the hare

the size of the bulb

the thickness of the wall of the hulb

the length of the siem,

e il s

23. Tagure 3 shows two identical bul oppositely
charped spheres X and Y, suspended side by
side by silk threads,

T T SRR L SR N

Figure 3

The magnitude of the force between them can be
increased by

M reducing the charge on cach sphere
equally

B increasing the lengths of the silk
Thresds

C reducing the distance between them

Iy increasing the distance belween them.

24, When gamma radiation is emitted by a
nuelens, the new nuciide

A raing protons
B oains cleelnms
C gains nucleons
v 15 same as the parent nucleus

25, Ina fission reaction

A twor light nuelzi eombBine to form a
more stable one

B one heavy nucleus sphits info two
almost cqual parts

C uranium nucleus produces a stable lead
nuzleus

(B 4 chain reaction eceurs, relcasing a
large amount of eneroy.

21, Thewvalue of 400 K in degree Celsivs is

A 127
B 400
31 227
I T3

26.  'The speed of sound in the different states of
maller increases in the order
A solid 1o gases to liguids
B solids to louids to aasses
(& paszes to liquids to 5olids
12 Lagiids to solids 1o tasses

Turn Over
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27, Which of the following optical instruments
usecs an objeet al a position between the lens
and the principal focus?

A Projeetar
R Phatacopier
C Simple camera

D Magnilvirng glass

28, Which of the graphs in ligure 4 best represents
the sariation of distance, d, with lime, £ for an
object moving with unifurm speed?

d d d
(S
T L it L
A B & I}
Figure 4
2 Two forces of 3 Nand 4 N are acting on a
bady. ‘The maximum resuliant foree that can
be oblained 15
A 12 M
B TH
{ 5
D 1M
30. Which el the [ollowing statemetits 15 an
advantage for using a pressure pol Lo cook food?
A It coaks at lower [Cmperanire
B It cooks at 2 lower pressure
2 It preserves the feod nutrients
0 It cocks al 2 higher lemperatung.
3l A burst water pipe sends a jet ol water up to a

maximum vertical height ol 5 m above the
around, Assuming that the maximum ke of
water |eaving Lhe pipe cquals maximum p.e al
maximum height. The speed with which the
water leaves the pipe inm s is.

i 200
B 100
C 10
17 o]

(Assumce = 10 ms?)

32, A temperaturc ol =23 °C on the Celsius scale
when converted Lo the Kelvin scale becomes

I 248 K

C 298 K

D 298 K
2x/3RO//CMCQ

33, A household apoliance is rated 1000 W, 220 ¥V,
The best fuse value for it is

A 0.1 A
B D3 A
& S5A

1% 220 A

34,  Which of the araphs below shiws how the
count rate of a radioactive substance changes
wilh time?

Counl Count Cotunt Count
t t L |
A n C D
Ficure S

35, 1he graph in figure 6 is the cooling curye of hot
liquid.

oo 1

%
1.!

=

; , * s
Fipure 6
At which part o1 e curve is the substance
in the solid siate?
Herveen Y and £
Between W and X
Beoyeen Xand Y

Between X and Z

= i s 1 = o=

6. The slape of a velocity-time graph gives the

A time taken
E acceleration
C total distonce covered
N total displacement coverad
37. A concrete block of dimensions 0.1 m by 0.3 m

by 1 m weighs 1000 N, the max:mum pressure
the block can exert on the ground in N m™ is

e T —

A 12500
B 1250
10000
D 1{HM}

Go on o the next page




38. When a1 piece of paper is placed in the path of
a radioactive radiation, the count rate drops
sienificantly. When a sheet of aluminum is
placed after the paper, the conmt rate remains
unchanged. The original radiation from
the source was

A alpha
B beta
C SATNTTIA
B alphaand gumma
34, Aoy of light is leaving.a matenial of

refractive index 1.3 and strikes the surlice al
an incident angle of 30" Determine the anale
of rafraetion inatr

A 05
3 48.6°
c L} R
] g

40, How lang will it take a body aceelerating at
2ms” toncrease its velovity by 7 m &Y

A DFs
B 304
DR 1
D. 1205

41, Which of the tollowing does nol affcet the piich
ol the note produced by a vibrating siring!

v Length of the string

B Tension in the string

1 Amplitnde of vibration ol the siring

1Y Mass per unit length of the stiing

-

42, Al n-lype semiconductar is
A atetravalent clement containing impurily
stoms of a pentavilent element

B a pentavalent element containime imparity
atoms of a tetravalent elerment

C atetravalent element containing impurity
atoms of a trivalent element

[} atrivalent element containing impurity el s
af a terravalent clement

Sectinn 2 (eighl questions)

Directions: 'L his group of gnestions deals with
practical situations. Cach siluation is followed by a set
of questions, Sclect Lhe best answar for cach guestion.

Cuestions 43 — 46
Figure & shiows a simplified hydraolic jack which may
be used to lift cars.

Fisure §

43, Clil is preferred to waler as the liquid in the
svalom beeause

A il is more viseous

£ oil docs mod canse rust

C wiler is lransparent.

D air bubbles eazily form in water,

44, This system multiphes the

A crierpy applied

5] foree applied

C prossure applied

B power applied

45, The veloeity ratio of thesystem 13

\ distancae moved by Lo load

x distance moyed by the elfort

L effort

- e load
& Lzl

L .
citore
distance movied by the effort
distance movaod by the lgad

A6 Which of the following siatements is true as

the jack funcrions?

A More oil goes L O tond ovlinder than
leaver the effort cvlinds:,

i The pressure peecrated by the effertin
thesame: prossesaovernvlieredn i
wil,

r Thecelfort applisd i trengmited
eually toall pevis of the oil

D the system wol s Lecense ol i
compressible,

Tum Owver
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